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http://130.149.61 45/~farbmetrik/UE4/UE45LON1.TXT 1.PS; start ou pt
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log AL luminance difference
98 Hreshoid Lg6 3caint
04 265 A 6,3cd/f pot4

L luminance difference
threshold g

02 26s B 6,3cd/f potd

L luminance difference | =
threshold Lg=o3edrf

AD 265 G 6,3cd/fy pot4

L luminance difference
threshold

020,15 Y 6,3cd/R) potd

Lg=6.3cdinf

log AL luminance difference | —
98 treshoid Lg=6.3cdinf

2

1

02 265 Y 6,3cd/f potd

BL \umlnﬁlnce difference

02 265 R 6,3cd/R) pota

AL luminance difference
threshold

040,15 A 6,3cd/f pota

Lg=6.3cdint

AL luminance difference
threshold

020,15 B 6,3cd/f pota

Lg=6 3cdint

UB;test chart UE45; threshold dakaramopoulos (89)
tp=0,1&26s, 4 observers, Lu=6,3cd/npotential A3—fit

log AL luminance difference | —
98 treshoid Lg=6.3cdinf

020,15 R 6,3cd/f) potd

AL luminance difference | —
threshold Lg=6,3gdint

04 2680,1s A 6,3cd/f potd

luminance difference
threshold

02 2680,1s B 6,3cd/f potd

Lg=6.3cdint

AL \ummance difference | =
e Lg=6.3cdint

AD 26&0‘15 G 6,3cd/fy potd

output: no change
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log AL luminance difference =
98t hreshold Sgaescl

AD 0,15 G 6,3cd/f potd

gAL luminance difference
98- threshold Lg

27 02 2680,1s Y 6,3cd/f potd

il

gAL luminance difference | —
98 hreshoid Lg=6.3cd/nt

02 26&0,15 R 6,3cd/R) potd

gAL luminance difference |
98- threshold Lgmo3ednf
21 04 265 A/B 6,3cd/ft pot4

il

INAIN0 Ae|dsIp Jo JUSWaINSeall 10} UONE:

Sd'/ 1X1 ' TNOTIS¥3N/SAN-TOZOETOE uonensibal anL

P00 :feLarew gn L

Y=




